e
HH: RS FOME HO S (LUDTUN/ABHE)
CHol: AIDIZO ME 2o CERT
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
== 303,000 273,469 29,531
=S FLUME Hel SN (ALY /ALY 191,865 163,060 28,805
ASTEN SHE 29 141,865 133,060 8,805
HHEIX 56,350 56,350 0
202 044l 1,700 1,700 0
01 2L 1,700 1,700 0
= 0 & 1,700 1,700 0
OAx&39 &AM 20,000& *5H *53] 500
O&= XXM # X0
60,000 x5 22 x23| 1,200
301 ot A= 54,650 54,650 0
05 S&-0/&-HEEs2AZ 52,650 52,650 0
= 0l & 52,650 52,650 0
Os® Jlasd 200,000& x15H «12& 36,000
OS& 402 200,000& 15 »23| 6,000
OsH 3o &M
20,0003 *15H 23| x12& 7,200
OEtE & 3H| 25,000& *69Y *x23| 3,450
09 AIAHIEAZ 2,000 2,000 0
= 0l & 2,000 2,000 0
O%Z& WS, MOl s 44X 24
10,000& x50 *x23] 1,000
OBAFH L ABEX AT Do
10,000 x50H *23| 1,000
KNS E3FAS (Z=0EA Ol &) 60,085 76,710 N 16,625
101 jSlals] 17,085 11,710 5,375
04 JIZtHZZXNSE > 17,085 11,710 5,375
= 0l & 17,085 11,710 5,375
OFY OS2t JI2ZHZ22XNE S 17,085
i ==1 8,350 x4 Al 2F*x20L x25H 16,700
- 11888z 16,700,000 *1.5% 251
—MHESE 2 16,700,000 *0.8% 134
201 282 A Y| 19,000 17,000 2,000
01 Ar&2te2lbl 19,000 7,000 12,000
= 0l & 19,000 7,000 12,000
O=Z0Hat &J] IS8 E0Hot2 at=D| 13,000
— 0t & AN = 50,000& x5 x83] 2,000
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2AN: MH=2S
HH: =S FOME Ho SX (UL ZHME /AL T)
o AIQEN Y 2Y (ete:de
% = — Ol Ao & E 0] A —~
EH-Z3H .42 (3H) - HEMNY - BES (Z= o) (913 o1) Hnsz
-0l ofgiex 22 2123 M
3,000,000 *14] 3,000
—=0lis EHEHE 8,000,000 * 14 8,000
O MHFALHZS 2t0l 280 2L
20,000 *300All CH 6,000
401 AlEHIZL 20 24,000 18,000 6,000
01 Al&H| 24,000 18,000 6,000
= 0ff &F 24,000 18,000 6,000
OEH0IES octalE=22 BAAXTY &X
10,000,000& * 14 A 10,000
OE0i0E S0iatAc AL
14,000, 0003 * 14 14,000
FOEAMA 2 5,800 0 5,800
201  2Et2IY| 5,000 0 5,000
01 At2R22lYl 5,000 0 5,000
=0 & 5,000 0 5,000
OFOHHMARAKZ =E
100,000& x20H x23] 4,000
OF0I&EMMA A (BHE S HE)
1,000,000& * 14 1,000
301 etEAaZ 800 0 800
09 EAIAHIZEAZ 800 0 800
=0 & 800 0 800
OFOIEMMA B SHED| AH2a
20,000& *20H 23] 800
FONX & HdEH 28 11,800 0 11,800
201  2et29g9Y| 10,800 0 10,800
01 AFR22lbl 10,800 0 10,800
=20 & 10,800 0 10,800
OFURXIME LetZH| 100,000& x12& 1,200
OFUXNX/AJ g4
20,0002 x25% 122 6,000
OFQUXXAHNEYH T2 2Hg
300,000& x12& 3,600
301 detg Az 1,000 0 1,000
09 ALAHIEAZ 1,000 0 1,000
= 0ff &F 1,000 0 1,000
OFUXNXL&Ss & S&X A
40,0003 *25H x 13| 1,000
S YHEH2S 7,830 0 7,830
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2AN: MH=2S
HH: =S FOME Ho SX (UL ZHME /AL T)
o AIQEN Y 2Y (ete:de
% = — Ol Ao & E 0] A —~
EH-Z3H .42 (3H) - HEMNY - BES (Z= o) (913 o1) Hnsz
201  2et29g9Y| 7,830 0 7,830
01 AFR22lYl 3,030 0 3,030
= 0ff &F 3,030 0 3,030
OEis2HE o8 = 100,000& x12& 1,200
OEsYME &I Xz
40,0003 =128 480
O LHE 25D & 150,000& =13 150
OSEX S 22EFY 100,000& x12& 1,200
02 3294l 4,800 0 4,800
= 0l & 4,800 0 4,800
OEMa2ME HIIAEZ  250,000& 12 3,000
O YMAE dot+=E 2=
50,000& *12& 600
OE M3 LHE AEEHH R
100,000& = 12& 1,200
MEDIRAXE & A2 FOUSJAAY 50,000 30,000 20,000
MEEHMN ALY 30,000 30,000 0
401 Al&HIZ 20U 30,000 30,000 0
01 AI&HI 30,000 30,000 0
= 0l &F 30,000 30,000 0
O2Z0JAdN AL 20,000,000 *14] 20,000
OlI=2S S&z U2t S HHIB A
10,000, 0003 =14 10,000
AR FUSSAALL (F0E0 0 &) 20,000 0 20,000
401 AIEHIZ 20 20,000 0 20,000
01 Al&H| 20,000 0 20,000
= 0ff &F 20,000 0 20,000
OEMER JFa28xx= A 20,000,000 14! 20,000
HHSABH (=S )(JIEH/IIE 111,135 110,409 726
ol 2 FH| 25,295 24,569 726
ol 23 25,295 24,569 726
101 bl 25,295 24,569 726
01 E= 25,295 24,569 726
= 0ff &F 25,295 24,569 726
OANZte 2224
10,299 x10Y «17 Al 2tx 123 21,010
OAZ2te Z22g (424
10,2993 x2H x4 Al 2t x52 2 4,285
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2AN: MH=2S
Y HER2GFUI(H=2S)(OIEH/DIEH)
e Jl2d (ete:de
% = — Ol Ao & E 0] A —~
EH-Z3H .42 (3H) - HEMNY - BES (Z= o) (913 o1) Hnsz
Jl2 &bl 85,840 85,840 0
Jl23l 85,840 85,840 0
201  2et29g9Y| 45,000 45,000 0
01 AFR22lYl 24,000 24,000 0
= 0ff &F 24,000 24,000 0
OMRES 2] 30,000 x 115 43| 1,320
MG +=EH| 5,000 2811 «12& 1,320
O&I|ItHEE =5 130,000& *13] 130
OLYOHNEH =5 130,000& *13] 130
O=2AMEX (M) 7L 22,0003 x 72 A+ 12 1,848
O=2AEX(A3) 7 27,0003 x32 A %23 162
O=2AEX(B5) 7¢ 21,000& x5 A x43] 420
O=AI EYH -2 ¢
500,000& *20H 23 2,000
OMYII+=HE AEESE 7Y
1,060 2500 x12& 318
Og&ds &I WA 50,0003 *10JH 500
OS2 YoIM=ZRH EH ¢
240,000& *3CH *33] 2,160
ONEEE 9 H& 100, 000& *63] 600
OYRET S2 WA
8,000 x11H 8L x12& 8,448
OYRFN S5 N& 200,000& *13] 200
O2AD| - ZglH =48 X
442,000 23] 884
Od#HFLR &N 2 50,0003 =43 200
O8I &1tz 28,000& x40 =123 1,344
ONzZ23=sg 12,0003 x5 12 720
OF&A SEX 7 40,000& *38F A %25 240
O3st&EA Hlo gxz 22,0003 x40 x 123 1,056
02 3294l 21,000 21,000 0
= 0ff &F 21,000 21,000 0
oE=z(8I1) 1,930 50 128 1,158
OoRBEZ (L8 300& *200H x12& 720
OFIINEZ 911,500& = 12& 10,938
O4dt== AtEZ 200,000& x12& 2,400
oduer) B2 300,000& *13] 300
OH = H| 150,000& = 12& 1,800
OA&E&Hl &KXt 245,000& = 12& 2,940
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SN

=
2 AHI(H2S)(IIEHIIEH
2

M. HY
Ce: I3l (e &
M- =8 a9 (3) - HEAY - a2 (ggj) @(ijf;lﬁ% HRE2
Oste= 62,000& 128 744
202  0O4dl| 29,700 29,700 0
02 EHOH| 29,700 29,700 0
= 0l & 29,700 29,700 0
OFE AN 225,000& x11H «12& 29,700
203 YRF=&4| 11,140 11,140 0
01 J|A2H IR =AY 7,700 7,700 0
= Ol & 7,700 7,700 0
Olf=s& 7,700,000& x1H 7,700
02 HEIAHR2=XH| 440 440 0
= Ol & 440 440 0
OdFJA MY R =X 40,0003 11 440
04 ENSIIRF=EAY| 3,000 3,000 0
= 0l & 3,000 3,000 0
OFAN2IYER F&AH| 250,000& «12& 3,000
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